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

 
 





 
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 
 




 
 
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 

lw ks l s
kw k w
   
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kw k w
   
l s l s
k w k w

   

k s l s
k wl w


   

 
 

 
1
41

2 
3
41

3≈ 

 2
3≈1

5 
2
53

5 
4
51

8 

 

٤= ٢ ٢  

 ١ = ٠ ٥  ١٦ = ٢ ٤  ٩ = ٢ ٣  



 ٢٥ =  ٢ ٥  ٦٤ =  ٣ ٤  ٢٧ =  ٣ ٣  ٢٥٦ = ٨ ٢  

١٢٥ =  ٣ ٥  ٢٥٦ =  ٦ ٤  ٨١ =  ٤ ٣  ٥١٢ =  ٩ ٢  ١٦ = ٤ ٢  
٦٢٥ = ٤ ٥  ١٦ = ٤ ٢  ٢٤٣ = ٥ ٣  ١٠٢٤ = ١٠ ٢  ٣٢ =  ٥ ٢  
٣٢ =  ٥ ٢  ١٠٢٤ =  ٥ ٤  ٣٢ =  ٥ ٢  ١٦ = ٤ ٢  ٦٤ =  ٦ ٢  
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:  









 

  

*
 

 
*

   

 


 

 


 
 


 

 
– 

 
’

 

 



 

  
  

  
 

 
 

 
 

   

 


 

 1 k k
1 k

2
 ن 



 

 



ن 

  

  

  
  

  
 

 

 





 
 

 

 
 
 
 

 





 
 

   ا =  
مث





 

 


 

 


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 
 
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

 
   ’  د   ا  ’

’  ج   ا  ’  ’  د   ب  ’   


 

  
   

 
 

 
 
 

   
      

 
 

 





 

 


 
 

 
 

 
 

 


  
 
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  

°
  

° 
 

   
@ب + @ا= @ ج 

=° 

° 
 

°=  ج ز   +ا ز     
 

 
   

°  
°=  ص ز  +س ز    

 
 

–3 
 

 

° 
 
 
 
 

 
 

 
 
 

 
 
 

 
 

 
 

° 

°=  ن ز  +م  ز  


 

 
–>> 
 

 
 

 

 
 

 
 

 

 
  ا 

=د  

ا 

=د  

° 

2   

1= ل 
2و 2  

 
 

 
  

 



 

22
7≈   

 


1
  و 2

1=س 
3و 2  

 

ا ب ه ، د ج ه 
 

 
 

د ه /ا ه = ج ه /ب ه = د ج/ا ب 

 
 


 

ا ب ج 
 
 
 

 

° 
 

° 

 

٦~د  ٣~ج  ١٢~ ب٤~ ا 
 

 
 
 
 

   
 

 
 

   


 

 
 
 
 

 






 
 

 
 




  

  ص ى ع  ،+س 
ص ى س+ع ى ص  ، ع +س   

  
 

 

 

 

 
 
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    

 


 
u r
2


  

 
  
  

  

 
 

 
 




 

r r
2


   

  
 

 

 

 
 

 
 

2 1r r
2


 

 
 
 

 

 


 
 2 1u r r

2

 
  

 

   
 

 
 
 
 
 

 Mr/mabrouk                                                                       

   
 
 
 


 

  

 
 
 
 

 

 
 

 
 


 

 


 

 
 
 
 

 
 

 
 
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   

 
 

– 


 
 
 

   
   
   

 
 

 
 

   

3   
2   

  
 


 


 

   
   
   

 
   

 
 1 k k

2
 

 

 

– 


– 

   
 
 
 
 

  
 1 k k

1 k
2
  

 1 k k
2


 

   

  

  k3 k
2

 

 

   
 

 
 

– – 

   

 
2 1

1 1 1
. . .
  

 

– 
 

   

 

 
 

 
 
 
 

  

٩ ٤ ١ + + 
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   

 
 

 
 

 
 

 

 


1
  و 2

1=س 
3و 2  

 

   

2   
  

= ل 
1
2و 2  

 
 

 
 

   
   

 

 
 

– 


  
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